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g 2sls ME
o AEllz2 SEd (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEFAE0 =2 3,876,378 3,432,559 443,819
= 27,000
Al 3,849,378
sl &S 3,274,437 2,870,111 404,326
== 27,000
Al 3,247,437
ANglls2t SE2H 490,000 0 490,000
2510 01=0| 2tLh= Stz SEd 490,000 0 490,000
201 Ler23 | 412,000 0 412,000
01 At2t2ltl 320,100 0 320,100
OOl & FEAtelbl
20,000,000& 10 200,000
OoxEEd % UXNE IS 9,000
Og4Eg 2,000,000 *22 4,000
OARRI I 50,000 »100& 5,000
OMEEES HZH 48,000
Oo&k=E 40,0002 *5005 20,000
OBAISA 1,000& 5,000 5,000
OFL=$ 2,000 +5,000% 10,000
o2z 500,000 52 2,500
OXEAH 1,000&#1,500% 1,500
OJletge= 6,000,000&*12 6,000
oglgz 3,000,000& %12 3,000
OOIEAS M 3,000,000& %12 3,000
OFAIEE € QY Hu= 40,100
Obl=&X&nag
1,800,0002 «3& 65 32,400
OeleH &= 77,0003 »100& 7,700
oxSacI2EHI(BY, EHE)
10,000,000 »23] 20,000
2 s5=g4l 8,600 0 8,600
oOXZEE= 5,000,000,000&*0. 1% 5,000
ORERS(=FE, ==L8 S)
2,5003 4002 +23] 2,000
Otz nE2E
20,000,000 «102+0. 8% 1,600
03 A= &I 83,300 0 83,300
O H A 13,300
OINSA] A 10,0002 200 2,000
OT ALY AL 3,000,000& *23] 6,000
OAlgIE 203 3,000,000& %12 3,000
Oax2E 7| 2,300,000& %12 2,300
O&AIZCIUIOIE] 2,000,000& «3H*3& 18,000
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g 2slls &8
o AEllz2 SEd (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZAOICIH &Yl oYl
40,000,000 *13] 40,000
ONZUH2IHI(AZER & =)
120,000 x 102 *5 2 +23] 12,000
301 22N = 18,000 18,000
11 AALREIXIES 18,000 18,000
O2ERY AHISH(KASAH
10,0002 » 1000 »23] 18,000
401 Al HIZ 2018 60,000 60,000
04 SALZEAIZH| 60,000 60,000
OTANAS(=E, HHMHME S)
30,000, 000& »23] 60,000
ANE0ls2 22 JAl 29 576,492 883,487 ~306,9%
22 JEd | (015 - AZEH) 97,736 105,997 A\8,261
101 ©1AH| 20,636 18,997 1,639
04 JIZtN2Z2XNSE+ 20,636 18,997 1,639
ORI AHATAHE2) 20,636
@)ulal:] 85,0003 x1H 262 +8E 17,680
Og &SIl 200,000 x12H 13 200
Ot 4| 85,0002 x1H+8& 680
(@11 L-=y= Y= 2,076
-=gx= 18,560,000 4. 5% 836
-AYL2E 18,560,000 *3.495% 649
“HAIRAYEE 649,000& *12.27% 80
-UEEE 18,560,000 *1.75% 325
A EE 18,560,000 * 1% 186
201 el 49,300 61,000 A11,700
01 At2telt] 25,000 37,500 A12,500
oX=ZEY € UNEII= 5,000
OgdEg 1,500,000 *23] 3,000
OARIEE 50,0002 x40 2,000
oelif & S=ESHAHI 14,000
OE= 30,000 x200% 6,000
O&AIEA 1,500& 1,000 1,500
OclZ2™ 2,000&*1,000% 2,000
OJIets2= 3,500,000& %12 3,500
Ol 1,000,000& %12 1,000
oxZ2e|2sH|(2Hd, BtE)
3,000,000 #23 6,000
02 S3=gl 2,500 3,000 A500
oxE 28= 2,000,000,000&*0. 1% 2,000
ORERS(ZHY =SLSE)
250,000 23] 500
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Ar=EHI 21,800 20,500 1,300
O&AIZCIUIOIE] 2,000,000& «1H+3& 6,000
QIIB A (MOILY) 2,000,000 12 2,000
OAZEHZZ ) 3,000,000& %12 3,000
OSHOICIH &Yl oYl
4,000,000& 12| 4,000
(OF=b= | 2,000,000 %13 2,000
OQIAHI(HZLER & &)
120, 0002 x424* 102 4,800
203 P2EZH| 3,000 3,000
EESSEEESI 3,000 3,000
OFAl U Dl2BE A2ET
250,000 122 3,000
301 EtE NS 4,800 8,000 23,200
11 dALEEIXIE S 4,800 8,000 A3,200
CELTL NN
10,0003 x8E ~60 4,800
401 Al HIZ S OHbI 20,000 15,000 5,000
04 SAL2EAIZH] 20,000 15,000 5,000
OTAEZHH(CE, HHAHE S)
20,000,000& *13] 20,000
22 J2N (22 I2HE) 183,270 137,430 45,840
201 el 141,270 110,430 30,840
01 At22t2lt] 99,430 83,430 16,000
OF0Hl X FEAtelbl
5,000,000& *3H 15,000
OxZEE € LIKE JIS 15,000
OogaEd 2,000,000& #32 6,000
OARRIEE 3,000,000 #32] 9,000
oclxf & =2= M 34,500
Ok= 15,0002 +500F+35 22,500
(@LENE=3 500,000 62 3,000
O&AIEA 1,000 +3,000% 3,000
Ocel2& 1,500 +3,000% 4,500
OXEAH 1,000&*1,500% 1,500
O Z2eI25HI(BHY, BtE)
3,000,000 *62] 18,000
(OFSPNE=3-] 16,930
OelEs! 224 77,0003 90 6,930
Oll=&X &= 2,000,000 +5& 10,000
02 S3=gl 7,520 4,400 3,120
OSBRI(ZHEY, == 1)
800,000 *32 2,400
oXE=EE= 5,000,000,000&+0. 1% 5,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ouselnEEEE
5,000,000& *3E+0. 8% 120
03 A= SHI 34,320 22,600 1,720
OEAIZCIUIOIH 2,000,000 «3& 12 6,000
OT ALY AL 1,000,000 *32] 3,000
OJH el AL 10,0002 *100E 32! 3,000
OS&0ICIN ZHIHoIY]
5,000,000& *32 15,000
oA2E Pl 1,000,000 *32] 3,000
ON2IIAH(ABEX ¥ E=)
120,0003 6 6 4,320
301 EtE NS 3,000 3,000
11 dAMEEIXIZE S 3,000 3,000
O=2gd A2y
10,0002 x2Z+502 +33] 3,000
401 AIZHIX S0HH 39,000 24,000 15,000
04 SAL2EAIZH] 39,000 24,000 15,000
OTAE Z8H(=H HHAHE S)
13,000,000 x32] 39,000
=2 JIEFE(RD - F2FIIN) 144,800 187,700 242,900
201 =3 105,800 156,500 /50,700
01 At22telt] 80,000 120,700 240,700
OOl X FEAtelbl
5,000, 000212 5,000
OxnBHY U (XEII=
5,500,000& 22| 11,000
ool & E2= NHUI 37,000
Oo&k=s 40,0002 50052 20,000
O&AISEA 1,500& 1,000 1,500
OcelZ2& 2,000&*3,000% 6,000
OJIets2= 2,000,000& *22] 4,000
(@=Ini= 500,000 x5H 2,500
Ooglg= 3,000,000& %12 3,000
Oz Z2el25HI(BHY, BtE)
7,500,000 22 15,000
(OFSUNE=3- 2,000,000& x35*2& 12,000
02 s3=gHl 4,000 3,000 1,000
oOXE=EE= 3,000,000,000& 0. 1% 3,000
ORURS(ZHT C=LS)
500,000& <22 1,000
03 A= SHI 21,800 32,800 211,000
OXAIZLIUIOIE 2,000,000 «1&+3& 6,000
OIH S ALHI 10,0002 200 2,000
OZHOICIHEBIN 0L
2,000,000 +3& 6,000
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Selr Agllsat 22 Al 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OA2Z2YH| 3,000,000& %12 3,000
CLENENICEEIEIERS
120,000 x5 & +8L 4,800
301 EetE2 NS 14,000 11,200 2,800
11 #AIAHIXIE S 14,000 11,200 2,800
O2gRa AHI2d
10,0003 x 10 *70L »23] 14,000
401 Al HIZL 01| 25,000 20,000 5,000
04 A2 S AIZH] 25,000 20,000 5,000
OTANAS(EE, HHME S)
25,000,000& *13] 25,000
258 Ol=d =aHIHE 150,686 180,200 AN29,514
201 fet=23y| 123,686 149,000 N25,314
01 AtR2te|HI 92,610 104,000 A11,390
OXBOHO| L IR
20,000,000 *1& 20,000
oxzEY € UXNEII= 8,200
OgdEg 2,000,000 #23 4,000
OAIEE 70,0003 x30&+23] 4,200
ol & EE2= NHUI 34,500
o&k=s 40,0002 5005 20,000
O&AISEA 1,5002 *1,000% 1,500
Ocl2™ 2,000&*1,000% 2,000
OJIetg2= 3,000,000 12 3,000
OXAISE SaM= 5,000,000& *12] 5,000
o2z 500,000 x2H 1,000
o= 1,000,000& 22 2,000
O Z2eI25HI(BHY, BtE)
12,000,000& x22] 24,000
(OFSPNE=3-] 5,910
Oll=&xgiz 1,800,000 22 3,600
Oelgs =24 77,0002 *30 2,310
02 S3=gl 4,176 10,000 N5,824
OXSEE= 2,500,000,000&*0. 1% 2,500
ORERS(ZHY =S5LSE)
5,000 x300% 1,500
Otl=g NEZE
22,000,000 *1E*0. 8% 176
03 A= SHI 26,900 35,000 A8,100
O&AIZCIUIOIE] 2,000,000& «1H+3& 6,000
OIH2tEH AHHI (Al &FAL) 20,0003 »150H 3,000
OH A LHH AL 15,0002 100 1,500
OS&0ITIEH| THOiH|
5,000,000& 12 5,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAx2F e 2,000,000& %12 2,000
O& I MZbl 1,500,000 *17H 1,500
Od=HH(HZLEX & E=)
100,000 7 »7d 4,900
O =H 0 1,000,000 *3H 3,000
301 EtE NS 6,000 11,200 25,200
11 dALEEIXIZE S 6,000 11,200 25,200
O=2gRu dHl2d
10,0002 x5 +60 2 +23] 6,000
401 Al HIZ S OHHI 21,000 20,000 1,000
04 SAL2EAIZH] 21,000 20,000 1,000
OTANHE (= HHMME S)
21,000,000& *13] 21,000
dEsii=2 29 383,004 343,097 39,907
& 27,000
Al 366,004
UE=0l=2 J18d | 81,074 76,400 4,674
201 Ler23| 63,974 59,000 4,974
01 At2teltl 50,410 43,500 6,910
OFOHl = FHAArelbl
3,000,000 x6& 18,000
ox=zEd € UXNE JIS 4,000
ogaEy 1,000,000 #22] 2,000
OArdIEE 50,0002 *40% 2,000
ool £ E2= MAHI 16,500
O=E 20,0003 x400% 8,000
O&AIEA 1,500& *1,000% 1,500
Ocl2d 2,000 +2,000% 4,000
OJIetge= 2,000,000 %12 2,000
O] 1,000,000 12 1,000
oxZaeI2EHI(BY, EHE)
3,000,000& *22] 6,000
O&AEER 5,910
Oltlsgigiz
1,800,000& x1& <25 3,600
OeIHH S 2 77,0002 *30 2,310
02 s3=gHl 1,644 1,500 144
oOXE=E"E= 1,000,000, 000 *0. 1% 1,000
ORURS(ZHT C=LS)
2,500 2005 500
Oulse NE2E 3,000,000 *6Z+0. 8% 144
03 A= I 11,920 14,000 /2,080
OFAIZCIUIOIE 2,000,000 x1H+3& 6,000
OJHarH AtHl 10,0002 100 1,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAx2F e 1,000,000& %12 1,000
CLENENICEEIEIERS
120,000 »2& +8 1,920
Og40ICIEEl ol
2,000,000& %12 2,000
301 LEIE NS 2,100 2,400 A300
11 dALEEIXIE S 2,100 2,400 A300
O=2ged A2y
15,0003 x2E 70 2,100
401 AlEHIZ 201 15,000 15,000
04 SAL2EAIZH] 15,000 15,000
OTANHE(=FE, HHME S)
15,000,000& x 12l 15,000
HEs0l=2 J1=2A 98,054 60,000 38,054
201 2egr=3| 75,954 48,500 27,454
01 At22t2ltl 59,910 35,500 24,410
OOl & F&Atelbl
3,000,000 64 18,000
OXZEY € UXNEIIE 5,000
ogdzEdy 1,000,000 32 3,000
OAtEY 50,0002 »40&*13] 2,000
ol & EE= NAHI 23,000
Oo&k=E 20,0002 *5005 10,000
OBAISA 1,5002 +1,000% 1,500
OL=$ 2,000 +2,000% 4,000
OJIetg=2= 2,500,000& %12 2,500
(@I 500,000 «6H 3,000
Oflg= 2,000,000& %12 2,000
oxEALI2EHI(EHY, BHE)
4,000,000 22 8,000
(OFSPNE=3--) 5,910
OtlsgiZiaz
1,800,000& x1& <25 3,600
Oelgu 24| 77,0002 x30 2,310
02 S3=gHl 2,644 1,000 1,644
OXZEE= 1,500,000, 000 *0. 1% 1,500
ORERS(ZIH =SLSE)
2,500 *400 1,000
Oll=e! NEEE 3,000,000 *6Z+0. 8% 144
03 A= SHI 13,400 12,000 1,400
OEAIZCIUIOIH 2,000,000& «1&+3& 6,000
OIS ALHI 10,0002 100 1,000
OZHOICIHEHIN 0L
3,000,000& %12 3,000
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OA2Z2YH| 1,000,000& %12 1,000
OdZUHH(HZLX & E=)
120,000 x2&» 10! 2,400
301 EetE2 NS 2,100 1,500 600
11 #AIAHIXIE S 2,100 1,500 600
O2gRa AHI2d
15,0002 «2E +70! 2,100
401 Al HIZL 01| 20,000 10,000 10,000
04 A2 S AIZH] 20,000 10,000 10,000
OTANAS(EE, HHME S)
20,000,000& *13] 20,000
HEsli=2 328 75,840 72,700 3,140
201 fet=23y| 59,340 60,300 A960
01 AtR2te|HI 47,000 46,300 700
OFOHl & FHZ& ALY
5,000,000 38 15,000
oxzEY € UXNEII= 5,000
OgdEg 1,000,000 #33] 3,000
OArRMIEE 50,0002 x40 2,000
ol & EE2= NHUI 23,000
o&k=s 30,000 400 12,000
OXAH(BR) 1,000 *500% 500
O&AIEA 1,500& 1,000 1,500
OclZ2™d 2,000& 2,000 4,000
OJIEt=E= 2,000,000& %12 2,000
o2z 500,000 *3H 1,500
o= 1,500,000& 12 1,500
oxEALI2EHI(EHY, EHE)
2,000,000 *23] 4,000
02 s3=gHl 1,420 1,000 420
OXZEE= 800,000,000 *0. 1% 800
OSERI(XVE, T=ua)
2,500 2005 500
Otl=el nE=2d 5,000,000 *3E 0. 8% 120
03 A= I 10,920 13,000 22,080
OFAIZCIUIOIE 2,000,000« 1 ~2& 4,000
OJHarH ALl 10,0002 100 1,000
OZHOICIHEHIN 0L
3,000,000 %13 3,000
OA22F g 1,000,000& %12 1,000
Od=HH(AZLEX & E=)
120,000 x2&+8& 1,920
301 2eEN= 1,500 2,400 A900
11 dALREIXIE S 1,500 2,400 A900
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O=2gRd A2y
15,0003 x2E x50 1,500
401 AlEHIZ S 0HbI 15,000 10,000 5,000
04 SAL2EAIZH| 15,000 10,000 5,000
OTANHE(=FE, HHME S)
15,000,000& x12] 15,000
as &Z0i=AH 97,000 100,000 23,000
< 27,000
Al 70,000
201 er23| 97,000 100,000 23,000
= 27,000
Al 70,000
01 At2teltl 67,950 73,500 A\5,550
OFFXIAY L HBHOI)
5,250,000 «8H 42,000
S 27,000
Al 15,000
oxzEd € UXNE JIS
1,000,000 x8H 8,000
oo & SES MAHI 10,950
Ook= 25,0003 *300F+15 7,500
O&AIEA 1,000 +2002 %15 200
Oocl=a 1,5003 #4002 +15 600
OXEAH 1,000 *50F*15 50
OJIetE2= 1,100,000& %15 1,100
(@LNE=3 500,000 1 500
OHAZ(Z2) 1,000,0002 %12 1,000
OOIEASH A 2,000,000& %15 2,000
OXZ28HI(2Hd, BtE)
2,500,000 *23] 5,000
02 S3=gHl 1,660 500 1,160
OXSEE= 500,000, 0002 *0. 1% 500
Oll=nELE 45,000,000 0. 8% 360
ORURS(ZHE, =5LSD)
800,000 800
03 A= SHI 27,390 26,000 1,390
O&AIZCIUIOIE 2,000,000& x2H<2& 8,000
OTAPUHBAHF2IZ I AHI AL
10,000,000 x12] 10,000
OJHar ALl 10,0002 99 990
OZHIUOLI(RHSBLXI, ==, 7X2)
350,000 821 2,800
OA22= g 100,000 821 800
OQAHI(AHBEX & H=)
150,000 x1& x4 2 +824 4,800
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ABIEN 208 2 31,036 33,997 2,961
101 @124H| 20,636 18,997 1,639
M ORNZZE2NSE S 20,636 18,997 1,639
OBXsATRAHUES0I=2) 20,636
@)uiFal:] 85,0002 x1H+262 8 17,680
Og &SIl 200,000 x1H =13 200
OH X2 4| 85,000 »1H+8E 680
@ZIN == Y= 2,076
-=233 18,560, 0002 *4. 5% 836
-AY L 18,560,000 *3.495% 649
-HIIRLES 649,000 *12.27% 80
-1ELE 18,560,000 *1.75% 325
~SHHEE 18,560,000 * 1% 186
201 eer23y| 10,000 15,000 /5,000
03 A= I 10,000 15,000 /5,000
ooielol, 44 M 2,000,000 32 6,000
OTAISAAHBAHZ A, HIOILH
2,000,000 #22] 4,000
301 EtE NS 400 400
11 dAMEEIXIZE S 400 400
O™gAI=d SEtl 8,000 x10+53] 400
Dl=E3XARLL 23 283,766 237,457 46,309
JIZHA HALZE 100,016 148,157 A48,141
101 @12A4H| 20,636 18,997 1,639
04 JIZtN2 2N S 2+ 20,636 18,997 1,639
OEXSUAPADI=FHARLR) 20,636
@ikl ] 85,0002 x1H+26 2«8 17,680
OE &=l 200,000 112 200
OY X2 4| 85,0002 x1H+8& 680
@ZIN L==h= Y= 2,076
=83 18,560,000 4. 5% 836
-AL 2 18,560,000 *3.495% 649
“HAI|RYEE 649,000 12.27% 80
-1ELE 18,560,0002 *1.75% 325
“CHHEE 18,560,000 1% 186
201 et 3| 78,580 128,360 A\49,780
01 At22t2l] 54,880 105,960 /51,080
O&ANE 7d $ A= 2,000,000 #32] 6,000
oX=ZEY € UXNEII= 6,000
OgdEg 1,000,000 *32] 3,000
OAIEE 50,0003 x30&*23] 3,000
ool & E2= NHUI 34,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oo&k=E 20,0002 *500F*22 20,000
OclZ2d 2,000 #2,5005+22] 10,000
oglgz 2,000,000& *23] 4,000
oxSacI2EHI(BIY, BHE)
2,000,000 #22 4,000
O&AEER 4,880
Otl=&AZnz 900,000 x2E 15 1,800
eIHA E2H| 77,0003 402 3,080
03 A2 I 23,700 22,400 1,300
OHEAIZCIUIOIH 2,000,000 x1&*4E 8,000
O AHHAI 4,900
OIf el Atdl 10,0002 x100& #2353 2,000
OF U AHI 1,000,000 *23] 2,000
Oa237gH| 300,000 *32] 900
OZHOICIHEBIN 0L
3,000,000& 22 6,000
OdZUH|(HZLX & E=)
120,000 x4&x 10! 4,800
301 EtE NS 800 800
11 #AIAHIXIE S 800 800
OEAMEE SEHI 8,000 %108 x102] 800
I X A A2 E 99,580 28,400 71,180
201 2= 96,580 25,400 71,180
01 At2t2ltl 77,980 20,500 57,480
OOl & F&Atelbl
500,000 *18% 9,000
O8ANY 719 & A= 500,000 « 182 9,000
OxZEE € UNEVI=E 27,000
OogaEy 1,000,000 * 183 18,000
OArdIEE 50,0002 x10&+ 183 9,000
oo & =SE= MAHHI 31,000
OclZ2d 2,0002%10,0005 20,000
OJlets2= 1,000,000& *22] 2,000
Ooganz 500,000 »18H 9,000
O&AEER 1,980
OQHY 24| 110,000+ 182 1,980
03 A= 18,600 4,900 13,700
O=SHIAE IME 200,000& »18H 3,600
O HIHAHI 15,000
OIH el AtH| 500,000& x 182 9,000
O Hel At 300,000 %182 5,400
Oa22Z72YH| 300,000 *23] 600
206 M=l 3,000 3,000 0
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S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
01 MHZH| 3,000 3,000 0
ONAIE EZTH ¥ HAARE
1,500,000 23] 3,000
HERAZ 43 &Al 71,670 41,100 30,570
201 Zet=3h] 51,670 41,100 10,570
01 AtR2t2|HI 38,110 36,300 2,810
OTANE 74 € HE 3,000,000& %12 3,000
OOl & & Atell
3,000,000 x2H 6,000
OX=EY « UNEII= 4,000
ogdzEg 1,000,000 *23] 2,000
OARIEE 50,0002 x40 & *13] 2,000
oelif & E2E MAHI 17,000
Oo&k=E 20,0002 6005 12,000
Ocl2™ 2,000&*1,000% 2,000
O#1= 500,000 x2H 1,000
oglgz 2,000,000& %12 2,000
oz E2ULI2SHI(EY, gHE)
2,000,000& 22 4,000
OXAEE 4,110
Oltl=&iZnz 900,000 x1E*25 1,800
O2lHA E2d| 77,0003 30 2,310
03 A2 I 13,560 5,800 7,760
OFAIRCIHIOIE 2,000, 00020%124+3% 6.000
© A0ICI0iZHI O]
4,000,000& *12] 4,000
O HIHAI 2,600
OIH el AtH| 10,0002 100 1,000
O CHH AtHI 1,000,000& %12 1,000
OA22F g 300,000 *23] 600
Od=ZHY(AZLEX & E=)
120,0003 »2& x4 960
401 AIEHIZ SR OHYI 20,000 20,000
04 HARZHEAIZH] 20,000 20,000
OFNAB(EE, HAHE S)
20,000,000 *13] 20,000
208 29 12,500 19,800 A7,300
201 Ler23| 12,500 19,800 A7,300
01 At2teltl 4,000 10,800 26,800
OYAIHAEYI 100,000 %102 1,000
OZE2= M= 3,000,000 12 3,000
02 s3=gHl 2,500 5,000 22,500
ORERS(CIEY, =5LSE)
2,500&*1,000% 2,500




2A: EFAE0=2
M B30z ME
el =& AROL 2 (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
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N=a3&aAFOL 250,000& * 128 3,000
Oostes(eHY, d3})
50,0003 *3H 2=x 122 1,800
OHe22)| HEH(HEs0ls)
150,000 »2CH =43 1,200
OagotdE s/l 55,0002 *30H A 165
Oll=2 galdl 300,000 *23] 600
OHZHIRY NWEEELER
100,000 34 300
ORSRYTEI(NEFHAROR)
1,000,000& %12 1,000
202 04| 21,600 22,800 1,200
01 2L AL 21,600 22,800 1,200
OJl=3dhl 20,0003 x18H 52«12 21,600
203 gF=4| 5,160 5,200 A0
02 HAJMAHARFAIH| 960 1,000 A0
O ItArA =] 40,0002 x24E 90
M EAEER=A 4,200 4,200 0
OJIEAH(2521015t) 350,000 * 122 4,200




